000000000000 (2011/06/29) 00000000

0oo0000oo000o.

11 1 1 1 1 2 +y+ 2 y 2
D]z 22+y z+2yl (2)|yz zzx zy| 3) x r+2y+ 2z z
y x+2y 2x+y 2 2 22 T y r+y+2z

000000000 (000: 0000000000000).

1 0 T z 0 1
(1)y|o —4 —4|=0 (2)|1 =z 1|=0 O
zr —4 0 1 0 «x
1 2 0
[35] 300000 A=|2 1 —5| 0000, A% 00000,
1 0 -3

13 ~5 2
2DDDDDA:<2 ),B:( 4>DDDD,DDDDDDDDD.

(1) |[AB|DODOOO.
(2) |A||B|DDDOO.

1 0 -1
[37] 300000 A=(2 1 3 |0000,000000000.
17 2

(1) |A|00DDOO.
(2) "Aloooon.

n00000 ADDODDODOO0OOD0O00000000:
A7 =

(000: 00000000000 0DO)



